T02

71939 1 %93°N aYnN
4 99

A1INN 29T NN TN PR ,1919DYW NN Y9953 IWNNYN DYININN Y33 1 H9YN

SV TINPNAN DY NITIND MDIND DX INND MININ NPXPNIN NNN DI My .1
Loy =dy+eax DPPNN (X,aX) NNINSD NHMP NINN 112 MTIPI2 .NIDIN

: aX =0 TWUNI DDIDVINIPN DNNINVY £(X,aX)-YW NN
y= Zx/; N
y=x7° .a
y=4x+x> .

: MINAN NPIYPNON IR I .2
us= —(2x+3+4x‘1)_1 N

v 22X =X

Xt —4x7?

w=3(x* +1)(2x* ~1)(2x+3) A

.

:dv-Y du DY 0NN dy DNINND X DU NPSPNI V- U P L3
y=Uv .N
1
y=—- .
u+v

20 0W) . (7,1) NTIPI2 X=2Y° + Y +4 TPSPNAN 9D PPUNN NINNYN NN INSD .4
A0 INT - (X, y) NP 9NN

d
2 X DV MYUM9N NPNPND d_y DITNIN NN Y NN PNPNON NN INSD .5
X

X=y?+3y-1 yz—g N



T02

1
t:—wmsnwnwx:3%+£—L y>0 .2
y y

Xx=y'+y*+1 y>0 .
-V T X, X, 999 DN P ON NDI9N 78PN NP y = f(X) 8pnad » o .6

F(x)# F(x) OPPpIm x =X,

11nnYYNa



